f A s fis, 1o =@ . = |
o TH7EE_ _LRER _ BER-ERER |
i5Zl = i5Zl W 7K i5Zl X S
0810 08.10 08:10
5 5 5
0815 BREE o815 FEH:= -~ 0815 N
10 cans| @smre |45 %iﬁg D= 10 085 FaEFHrL| FHOE
5 D= 0830| REH2 BE) - R 0825 FBE) « (S
0830 5 %) Ein 15 D=
835 N 08:40
45 1 10] sas| FAD= 1 5 2l EE 1
08:45 08:45
0915
5 I 1 R 1 K =
USZ0 09:30 - 09:30 s
5 O 5 TN
45 2 0935 2 0935 2
10:05 45 2 45 2
10:05
25 NN 1020 NN 10:20 NN
10:30 10:20 == 10:20 =
550 25| joas|  ARIAE 25| [oias| KRR
10:45 10:45
. 3 | 5 | 3 |. 5 | 3
11:15 _
EE] k3 &8
5 5 X B8 1130 K 28 1130 A 28
5 K =8 5 N
1135 1135
45 4 4 4
45
12:05
40
12:45
12:45
201 .. BIARE
1305 20 YN e NG
13:20 13:20
2 | 1322|158 Elg 2 | 1322 28 - ¥l
45 13 2[5 13 =2 [F
5 13:35| PR 5 1335] 7 5 5
5 R - B - 5 28 - BE) -
1340 1340
13:50 15 RULZTL 15 RUILZAL
5 A28 A28 A28
1355 1355 1355
45 6 45 5 6 45 5 6
(D57« ZER) (LAY A L)
14:40 14:40 o 14:40
= Py 5 ooy = P o) 1$ IEL‘% =2 s
10 Jﬁ@d)ﬁ 14:45 'Jﬁi@@ﬁ 14:45 'JWDODB
1450
k=2 45 Ty ay % 45 pai=
%15 o BERX o &
50 == _ E DT - ==
FE 35 15:30 L 15:30 3535
10 B D= = 10 B D=
1540 L2 " L2 R 5
i i
40 40 (BRlEE) 40 (BRI
16:20 16:20 16:20
gé P
16: 40 16: 40 = 16: 40 =
RN REZ-12:17 13:17 14:17 15:02 15:32 16:02 16:32
-NIEBOEBARX, REEFKBERL, FiEEESF (8:15~8:30) TE#EY 5. 1BL, FEES (RAI, F2:XEH) I, 8:30~9:00FTET S,
-BRE2NMERIE TOVY BRIKER](13:00~13:50)%FE T 5, (7H, 9AIFERLALY)
TEEAM LT, BERBBOEREXIIEBEFZHOEE - FRAHORLERVHEIVILEEDRED=-HIZENT .
957 -FBL(X, 14:00~14:45
16:20--E2T#& FTUVITULHFA -K-€) FS5CHFEU-XK)




